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No. of Questions : 150

Wyl @t WEd; 150
1
Time : 25 Hours ; Full Marks : 450
1
w2, e qorfE : 450

Note : (1) Attempt as many questions as you can. Each question carres 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question.
mﬁmﬁfﬁnﬁﬁfﬁﬁaﬁﬁmmaﬁlnﬁzﬁma(m)
aﬁ%m%ummaﬁ?aﬁ‘mﬁaﬁmmﬂm
ma@mﬂ&qmmwml

(2) If more than one alternative answers seem to be approximate Lo
the correct answer, choose the closest one.

ﬁ@waﬁuﬁw@m%ﬁﬂﬁﬁﬁ,eﬁﬁmﬂ
gt 3aT 2|

{3} This paper comprises of three sections : Physics,Chemistry and
Biology. Each section contains 50 questions.

ﬁn&qﬁﬁﬂ@ﬁﬁ%:%ﬁﬁﬁﬁ,mﬂﬁﬁmqﬁ
Gﬁaﬁtﬁﬁmﬁtﬁmﬁsuﬂﬂ%t
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Section - I
avy -1
Physics
(Marks - 150)

Q1. The velocity of a particle depends upen t as V{t) =/A + Bt + Ct2, If
velocity is in m/s, the dimensions of A & B are :

T FT H AT 9T AT BT R, Vi = A+ B+ Ct2 | AR A H R0
FZaax B 3 W& R

(1) [MLT']|& |MLT] 2) MLT|& [MoLT]
@) ML & MLeT @) [MLT e LT

02, A system has basic dimension as density [D]. velocity [V] & area [A].
The dimensional representation of force in this system is :

%W'ﬁwﬁmm[ni,%mwmwmw%l
T e A mw e gy ar Remrr der

(1) |av'D| (2} |a*vD]
(3) [avDY (4) |A"vp|

03. Angle that the vector A=2i +3j makes with x—aﬁs is :

qaﬁaa‘a;:gh;j,x—wﬂﬁvrm%,ﬁwaﬂmé:

r— 3 -3 2 PR | -1 -
(1) s ](—2-) {2) tan (EJ (3} sin {—32-) (4) tan (;}
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TGRS, N1 w BT
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M
A particle of mass [“2—] is circulating on the circle of radius r having

angular momentum L, then the centripetal force will be :

(%]Wﬁ%ﬁﬂﬁrﬁlﬂ%ﬂﬁﬂgﬂﬁgﬂﬁ“ﬁﬂﬂaﬂ

L o 1 AfSE =9 86T

W L

2[—-:
Mo (4]

M
m = . @

Two masses A & B each of mass M are fixed together by a massless

spring. A force E acts on the mass B. At the instant shown the mass
A has acceleration a. What is the acceleration of mass B ?

ol AT BT AT M & A adi BT omad # g3 #1 O W

=W B 9 HA ST &1 ZAAT A q¥ g @Y a o &
@ @ ¥ | KA B &1 A 7

M M

A T

w(He @y o (F @ n(y)

A false balance has equal arms. An object weight w, when placed in
one pan & w, when placed in the other pan. The true weight w of the
object is :

Wﬂﬁfﬂﬁailqzﬁfﬂ,ﬁﬁw%lwaﬁwwmﬁtﬁi
hmr@%ﬂw,wm%@%ﬁqvmﬁmw,m%;a@

. ! : w3 2wywy
(1} Jyww; (2) wiz-kwi (3) -(EJ_;::J-} . () {wl+w1}



14U/115/10(i)

07.

08,

10.

The human heart discharges 75 ¢c of blood through arteries at each
beat against an average pressure of 10 ¢m of Hg. Heart beat is 72 per
minute calculate the rate of working of heart in Watt {#y, = 13.6 gm/
). ?

mmlnﬁtﬁ.%ﬁmﬁa' WW?S&WH@EEW
& "y o F g B e USHhy 72 Ui e 1 gew B @d
HA FH T H T are F Fifo (P, = 13.6 gm/ce).

(1) 1.19W (2) 2.20wW (3) 3.39W 4] 4.49 W

What will be the depth of water in a tank so that the volume of air
bubble get double from the bottem to surface ? [y, = 13.6 gm/em?,
1 atm = 76 cm. of Hg |

(1) 528 m (2} 10.34m (3] 1567 m (4) 20.86 m

_'mﬁr%gagmwrﬁ%aﬁawmﬁwﬁ@wwa
STTelT ¢

g @ ¥F F qeft @ wewrd g =eR
mA G, | argEE - 76 ¥ ary)
(1) 5.28HrY (2) 10.34 frET
(3) 15.67 ey (4) 20.86 HfTt

Py > 13.6

A 3 HP motor requires 2.4 KW to drive it. Its efficiency is about :

T 3 SHIEY 5T Y gar) # o 2.4 Peairare oifdr 35 orec B
2| SEE &wWar ST BNy -

(1) 50% (2) 60% (3) 70% (4) 90%

What is the mass of an electron moving with a velocity of 0.6 ¢ interms
of the electronic rest mass m,? e

wzﬁmo.ac%ﬁnﬁwﬁ%ﬁwsﬁmwmﬁm
FAHE m, ® @9 F w1 gy ?

(1) EJ’"U (2) GJ’"H | (3) [g]mu (4} E:}'mn
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12,

13.
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The potential energy u(x) of a particle executing SHM is given by :
{1) u(}tﬁ%[r{-ﬁl“ (2) u(x)=kx+k x* +k,x*

(3) u(x)= A exp (~bx) (4) ufx)=constant

et ovae Y e gW U @91 @t Refisr S ul B
(1) u[x]-%[x-a}’ - (2) ufx)=k,x+k,x* +k,x*

(3) ulx}= A exp [-bx] (4) ux) =Praars

. " 5 : i
The two SHM are given by : ¥ =asm[(—2-] t +¢]ar§d y, =bsin [[-§—~]+¢}

The phase difference between these after 1 second is
; Fi 4
A qee amad R @ wdimor § Rar ¥ }f.=asm[[3]1+i] o

y;=bsiﬁ[[3’;—’]+¢]. | FFvE B G5 BT B FARK ST

T

(1) (2 @ @ 3

A body of mass 'm’ is moved to a height equal to the radius of the
earth 'R'. The increase in its potential energy is :

o FEEAT 1 T [oE gelt & B R F FUEL HAE aF K
21 ecda o 4 g it -

1 ‘ 1
(1} mgR (2) 2 mgR JZ/(E] mgR (4) [E)ng
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14,

15,

16.

IT'r' represents the radius of the orbit of a satellite of mass 'm’ moving
round a planet of mass "M', The velocity of the satellite is given by :

'm'mmawms‘r'aﬁmﬁ'wmm%m%_'ﬁrﬂaﬂ?w
TR ) Iuwe ) iy end

,_ Gm ., GMm GM Gm

(1] v,:T 2y v'= : (3} v= ; (4] v= >

In English the phrase 'tip of the iceberg is used to mean a small
vigible fraction of something that is mostly hidden. For resl ice-berg

‘what is this fraction if the density of sea water is 1.03 gm/cc and that

of ice is 0.92 gm/ec ?

mﬁmm*mmm*mwwmtmm
gﬁgqqm&weﬂgr-mﬂﬂmﬁﬁmiqﬁw%wwm
1.03 U1/ 9T A W T 0.92 ;A W, AN e srEEE
F B weT feay & 7 |

(1) 5.6% (2] 10.6% (3) 15.6% {(4) 20.6%

A block of wood floats in water with two-third of its volume submerged,
In oil the block floats with 0.90 of its volume subtnerged. What will be
density of 0il ? [0 =10%kg/m’]

T TG H THST TN A A-forerd omgent st & mn Avar &) O
H =T 0.90 R AT § A7en ¥ A @ gwey w=mw Aoy 7
(£.=10° fEmr )

(1) 530 Kg/m® (2) 740 Kg/m?
(3) 630 Kg/m? (4) 880 Kg/m?

]
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17. A vessel contains liquid of density ,# as shown. The gauge pressure at
point P is :

Wwaﬁ#ﬁ;mﬁm%nﬁﬁpwmﬁmm?

(1" hpg | 2) Hpeg |
@) (H-h)pe @) (H-h) 2 gcoss

18. To get the maximum flight, a ball must be thrown as :
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19.

20,

a1.

Water from inside the earth riscs through the trunk of a big tree to
leaves high-up. The main reasen for this is -

(1) Capillary Action (2)° High viscosity of water

(3) Gravitational force (4) Evaporation of water
M%Wﬁﬁmﬁmm@mtﬁﬁmlm
qEA HReT R B 7 ;

(1) Eﬁﬁlw (2) 9 = Aftms T By
(3) TErEmeRer W (4) oRT W7 A
The energy needed in breaking a drop of radiua 'R’ into 'n’ trops of

radius 'r' is: "

%@%W'R'%'n'@ﬁ'ﬁﬁwéﬁﬂmﬁ%mw
# T R ¥ |

(4x R ~dxr?)
T

(3) [G]*r’-[—:-]xn’}T 4) {4:111;.:4::-’)

(1) (hr’n—deI)T (2)

A dog barking delivers about 1 m W of power. If thia power is uni
distributed over a hemispherical area, what is the sound level at a
distance of 5 m ? '

ﬁamr'ganwlﬁtqmmﬁamwhwﬁﬁmm
Wmﬁmﬂﬂﬂm&msmbﬂi{ﬂﬂqﬁ
B T a7 Erm ? :

(1) 10 dB (2) 38dB (3) 58 dB (4) 68dB

10
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24,
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The t:einbcratum at which speed of sound in air becomes double of
its value at 27°C ?

ﬂﬁ'mﬁaﬁmz?ﬂc%maﬁwﬂﬁmmﬂwﬁ

R -

(1} 54°C (2) 327°C (3) 927°C (4} .-123°C

5, |
A wire of density 9 % 10° Kg/m? is stretched between tWo clamps 1m
apart and is subjected to an extension of 4.9 x°10* m. What will be
the lowest frequency of vibration in wire ?

(1) 25Hz  (2) 35Hz (3) 45 Hz (4) 55 Hz

Qxlmﬁﬁmxﬁ’ﬂﬂﬁ%mﬂlﬁﬁtﬁ@ﬂﬁ@%ﬁﬁﬁﬂ
mwﬁmﬂ#suo*ﬁtaqﬁaamﬁlmﬂmﬁm
smafew w7 -

(1) 258 (2) 358 (3) 45 &EA (4) SS&H

The wavelength of light coming from a distant galaxy is found to be
0.5% more than that coming from a source on earth. What is the

velocity of galaxy 7

(1) 0.5 x 10° m/sec 2) 1.0 % 10% m/sec

(3) 1.5x10°m/sec (4) 2.0 x 10° m/sec
g%mﬁmﬁaﬂmwaﬁﬁﬂi 0.5% SHrET. B AT
%gﬂwﬁuﬁmmzﬁwﬂlmﬁﬂﬁrwaﬁ?
(¥ 0.5x=10° HloHo (2) 1.0 =10° Ho/ Ao

(B 1.5 % 10° Mo /8o 4). 2.0 = 10¢ o Ko

11
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25.

26,

27,

!

In open organ pipe the fundamental note is produced when its length
is:

gA o aE A o e e v ¥ v g wnd R

7y 73 kT
{1) a (2) > B}‘; 4) 2

A sphere of diameter 7cm and mass 266.5 gm floats in a bath of
liquid. As the temperature is raised, the sphere begains to sink at
temperature of 35°C. If the density of the liquid is 1.527 gm/cc at
0°C, find the coefficient of cubical expansion of the liquid. Neglect
the expansion of the sphere,

?ﬁﬁrarmﬁmzaﬁﬁmwmrwﬁwmﬁﬁmr%léﬁ
mwm%ﬁwmmmm%aﬂrwcwgmm
%1 0°CHIY T 2T F T 1.527 AR &), 8 &9 %7 AT THT
gﬂmmaﬁml'ﬁwmmmmﬁwﬁl

(1) 3.5 x 10+ joC (2) 5.5 x 10~ foC

(3) 6.5 x 10 /°C (4) 8.5 x 10+ /o°C

Two plates each of areg A, thickness L, and L, and thermal
conductivities K, and K, respectively are joined to term a single plate
of thickness (L, + L,). If the temperatures of the tree surfaces are T, &
T, what is the rate of flow of heat ?

ﬁfﬁﬁnﬁiﬁﬂﬂﬁmﬁ&’ﬂ?ﬁhﬁﬂrhaﬁ?mw&ﬁm
K,ﬂﬂﬁhgﬂﬁ%a%atﬂaém,wﬁ}waww%mﬁﬁﬁa
g@t-ﬂﬁmﬂnﬁmné‘rfﬁmmwﬂwm?

A(T,-T,) A(T, +T,) AT T, ASTT,
m bl oo L LT 4 L L L, 'k,
[KJ*KEJ I8 B s B Ml

12
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28. The variation of PV with V of a fixed mass of an ideal gas at constant
temperature is graphically represented by the curve :

@ﬁaﬂm%mﬁﬂ@sﬁmﬂwmwwvmﬁaﬁm
frg o § Ramgr s & 7

PV, PV

» F 3

(1) / (2) \

(3) (4]

»\/ -+

29. A thin rod of length {f/3) is placed along the principal axis of a concave
mirror of focal length ‘f’ such that its image, which is real & elongated.
What is magnification ?
@ﬁﬁ{f}ﬂjﬂéﬂ%ﬁmm%g@maaﬁﬁar@
Tt 2 | AR AT T &1 a1 B | ST F1 &P 7 (f G
zdor I Hed TEE) |
(1} -3/2 2) -2/3 (3) 3/2. 4} 2/3

4 : .

13
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30.

31.

32.

33.

The Sun {diameter, d) subtends an angle ¢ radians at:the pole of a
concave giirror of focal length ‘f’. What is the diameter of $he image of
the Sun formed by the mirror ? :

'rﬂmaﬁmmﬁﬂﬁw@(m,d)aiﬁﬂawaﬁw
mﬁlﬁwmaﬁ@_%uﬁﬁwaﬂmw;m?

(1) a/f T2) o (3) 19 (4) .0
i

Deviation § produced by a prism of refractive index p & small angle A
is given by ; : :

SITARG p T BT BT A AR B B AR 5 EEEE wer @
(1) 8={s-1)A (2) d=(n+1)A (3) d=(A=l)u (4) 8=(A+1)p

Loss of the ability of eye to focus on near & far objects with advancing
Bge, is called ;

(1) Presbyopia (2) Astigmatism

- {3) Hypermetropia (4} Myopia

uqﬁan%mﬁmeah?gaﬁraﬁeﬂﬁrﬁmmﬁﬁm
sie o @S B et B, 5 awa ¥

(1) AR (2) QRefem (3 SRADINET (4) ATy

The work function of sodium ig 2.3 eV, Calculafc the m;ixirnum wave-

length in nm for the light that will cause photoelectrons emitted from
sodium. [h = 6.6 x 10% J.8, ¢ = 3 x 10* m/sec]

(1) 450 nm {2) 330 nm (3) 440 nm (4) 540 nm

14
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Aty &t FEEE 2.3 gwEF-deT ¥ g & AR aor-
Yot At ieT 3 PR B PR RIS iR & ST 6T
% ?

[h = 6.6 x 10 FoRo, ¢ = 3 x 1000 /o)

(1) 4500 (2) 330%irflo
(3) 440 s{to (4) 540 frflo
Light is polarised to thc maximum, when the incident angle on the

dahuwﬁnmir
mmmtm;mmwmaﬁﬁmmm
o ?

(1) 57° (2) 67° (3) 53° {4y 37°

Bragg's equatiunwi!lhswenumlutiunif z
w0 3 ST W A8 e o wET ST

(1) r<d @ <24 3 1-:[-‘;—] 9;/1:,1.&

The force of attraction between two co-axial electric dipoles whose
contres are r meter apart varies with distances as :

rwwamma@mammmmm

g e |
Ly et @ 3+ @ e ) -

18
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37.

38.

39,

Two condensers of capacity C, and C, are ¢onriedted in parallel. If a
charge 'q' is given ip the assembly the charge on the cpacitor C, to
the charge on the capacitor C, is :

= HRN ¢, @41 C, W F wuteR mW X 2 ¥ a R W
Qﬁmﬁﬂqmﬁwﬁmm%ﬁhaﬁﬂéﬂﬁwﬁmﬁac]w
C, 9T BFT -

t
(1} c,/c, @) ¢J/C, @3 cg @ cc,

A condenser of capacity 50 uF is charged to IIO volt. Its cncrgy: is
equal to : P

() 25mJ  (2) 025mJ (@) 50mJ | (4 01254
?_‘ﬁEDnF & dafis FH loﬁaﬁ'&lﬁﬁmﬁﬁﬁm‘thMwﬁ

|
(1) 2.5 Rl o (2) 0.25 fyeft Iget
(3) SO Frel o= (4) 0.125 Sy

Given three equal resistances, How sy diﬂ'ar*nt combimtions ol
these three resistances can be made ? '

S IORAE A B 1 - ST o Ce—— '%m:'ar@w
gfadrg, 9 ofadet B R e o1 qar £ 7

{1) & (2) 5 (3) 4 L4 3

By how many percentage the power in a lamp decreases if. the durrent
drops by 1% ?

T 9§ penfe 8 awn w5t g mmﬁm;w&ﬁ}mw
fber afred e oy ? |

) 2% (2) 4% (3] 1.01% 4] 1%

16
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432,

43,
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The time required for 1 KW heater to raise the temperature of 10 litre
of water through 10°C is :

(1) 210 sec.  (2) 420sec.  (3) 840 sec. (4} 1000 sec.

10 et ) @7 arg 10°C % Fer A 1 fpeare dex amr R
qug, ST 7
(1} 2108F°E (2) 420875 (3) 840 RFIS  (4) 1000 FFvs

In producing chlorine through electrolysis 100 KW power at 125V is
being consumed. How much chlorine per minute is liberated ?

[E.EL/E. for chlorine is 0.367 x 10 Kg/c]
(1} 17.6 gm (2) 27.6gm (3) 37.8gm (4) 48.8 gm

maﬁﬁﬂmzﬂﬁ'ﬁammaaaaaﬁséﬁm!ﬁmmﬁﬂﬂﬁm
W%imnﬁﬁwﬁﬁmﬁﬂmmm? '

{709 & $otfiodo = 0.367 105 fFam /c)
(1) 17.63m (2) 27.6WW (3) 378AH (4 4B8AM

A magnet makes 5 oscillations per minute in earth’s magnetic field
(H = 0.3 gauss). By what amount should the field be increased so

that the magnet makes 10 oscillates per minute ¢

gﬁ%gﬂﬁ'ﬂaﬂ{}{-ﬂﬂgauss]ﬂ@ws e ufg Bree
m%nWh%mﬂWqﬁaﬁmmﬁth
Zror wiy e 108 A ?

(1) 0.3gaums (2) O.6gauss (3) 0.9 gaube (8 1.2gauem

17
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44. A S0 W, 100 Vlamp is to be connected to an A.C. mains of 200 V, 50
Hz. What capacitance is essential to be put in series with the lamp ?

200V, 50 Hz T. #1396 | a& 50 a1e, 100 9ree &1 &=y Sty =T B
@w%%mﬂmﬁﬁmmﬁa@h@mﬂm?

(1} 3.2uF {2) 52uF (3) 72pF (4} 92uF

43. The reactance of a inductance X, in an A.C. circuit varies with
frequency 'I" of the source voltage. Which one of the following
represents this variation correctly ? :

W X, W afmErEr el aRog # anghy v e ofafse g
ﬁﬁﬁﬁﬁ%lﬁ'ﬂﬁf@ﬁﬁﬁ?—mﬁiﬁﬂiﬁw&ﬂiﬁﬁm
&7 '

M) 4

J

(3} (4)

¥
r

18
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46. The total energy of the electron in the hydrogen atom in the ground
state is — 13.6 eV. The kinetic energy of this electron is :

UeF g W BRI oy ® = arEeen § 9 - 13.6 eV
S A o o i et - o i
ﬂ.a eV (2) 27.2 eV (3) 6.8¢eV (4] 3.4 ¢V

47. Tritium has a half - life of 12.5 years fer p—decay. The fraction which
will have decayed after 50 years :

%;::IT[ A Afeam v orderrg 125 ad ¥ 1 S0 AW YA A AT
{1) 1;4_' (2) 3/4 (3) 1/16 (4) 15/16

48, Pure Si at 300K has equal electron (n,) and hole {n,) concentrations
of 1.5 » 10" m™. Dopping by indium increases (n,} to 4.5 x 10% m,
Calculate n_in the doped 51
(1) 5.0x 10°m? 2) 5.5 10°m?

(3} & x10°m™ {4y 9x 10°m
BODKﬂ@WﬁWW{MHﬂT@H[nJﬁW
15 x 10' m™ 1 gReEm &S & H (n,) ﬁ B arh ¥
45 x 10%m-3, ge i d (n) B TR ?

(1) 5.0 x 10%H1 (2) 5.5 10° /i

(3) 6 % 10° #P? (4) 9 x 108 ®1

49. The forbidden energy band gaps in conductors, semi-conductors &
insulators are Eg,, Eg, & Eg, respectively. The relation among them
15 .

D aﬂﬂmaﬁrmﬂmﬁhﬁﬁ%mmm&,
Eg,.ammﬁlsﬂ%ﬁﬂaﬁrmé’m:

(1) Eg~Ee,~Eg, (2) Eg,« By« By
{3) Eg,> Eg;> Eg, (4) Eg,«Fae> o .

dR

19
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80. What is the sum of two binary digits 10011 and 1001

= AETR HE 10011 qAr 1001 T IqrT 97 &F 7
{1} 11001 (2) 11100 (3} 11111 {4} 10111

20
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s2.

53.

14U/115/1001)

Section - 11
oz - 11
Chemisfry
(Marks — 150)

Which one among the following compounds is most easily sulphonated ?
(1) Benzene (2) Toluene
(3} Chlorobenzene (4) Nitrobenzene

Rr=fefa A @ @9 § @ B aga STEET & FERgT ®id
g7

(1) = (2) 2rPEH

(3) FACENA (4)" T[T

—_—

The formation of cyanchydrin from a ketone is an example of :

(1} Electrophilic addition (2} Nucleophilic addition
(3) Nucleophilic substitution (4) Electrophihc substitution
Lo | aENERRT T & 6T ¥

(1) FAFTEE AT (2) AoEREd grT

(3) ATHEEE g (4} FAFEEHEE AT

An S.; reaction at an asyrr{mctric carbon of a compound always gives:

(1) an enantiomer of the substrate

{(2) a mixture of diastereoisomers '

(3) a product with opposite optical rotation .
{4) ,a single stercoisomers
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Feet DPep B sremla @y 9T S, s edem 3 2
(1) w=rd Fr afafrs =g

(2) afafrs faRReETEEd @ s

(3) Feda mafds oofv 3 o e e

(4) Okl PAFrEEREEER

Which of the following compounds exhibits stereciscmerism ?

(1) 2 - methyl butene - 1
(2) 3 - methyl butyne — 1
(3] 3 - methyl butanoic acid

(4) 2 - methyl butanoic acid

ﬁﬂﬁf@ﬁ&rﬁrﬁﬂﬁzﬁmﬁrﬁnﬂmﬂwﬁmﬁhm%?
(1) 2-Prams sgfea- 2) 3-&2113?[?{1213?—1
(B8} 3-FRS FerEs e (4) g-ﬁrtrlaa-é{m-—i}s?sm

When propyne is treated with aqueous H,S0, in the presence of HgSO,,

the major product is :

(1) Propanal (2} Acetone

(3) Propanol (4)  Propy! hydtbgen sulphate
ST 19T A ST H,S0,% & HgSO, 3 mﬁuﬁr 7 Igefa wa
o = aen & Sae gear B

(1) "Sf== (2) THE.

(3) St | (4) USRS "ede
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§6. To distinguish between 1 - butyne and 2 - butyne, which of the

57.

following reagents would you use ?
(1) H, Lindler's catalyst (2) ilute H,S0,, HgSG,
(3} Bromine, CCl, Ammoniacal Cu,Cl, solution

1—wm2~w%mﬁwmmﬁ%m,
Prfaferd & @ oy A-ur afdEsis FEE B 7

(1) H, RrFsea & SOF (2) &9 H,80,, HgSO, 2
(3) #mrEe, CCl, (4) ST Cu,Cl, Reas

A solution of {+) - 2 - chloro - 2 - phenylethane in toluene racemises
slowly in the presence of a small amount of SbCl,, due to the formation
of :

(1) Carbocation {2) Carbanion

(3) Carbene (4) Free radit_:al

[+}-2—§:ﬁtﬁ _ o _ frEeees & Rroras @ TRIET | SbCL B g
wﬂﬁmﬁﬂﬁmﬂ%qﬁﬁmﬁ&—tﬁaﬁmmtr

(1) HEEEA (2) SO
(3] A ' (4) T@AH A6

Chlorobenzene can be prepared by reacting aniline with

(1} Hydrochlonc acid

(2] Cuprous chloride

(3) Chlorine in the presence of anhydraus aluminium chioride .

. #4). Nitrous acid followed by heating with mmd:hrﬂe

R
-
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R R BT o S 3, TR w6 P & a B wa @
(1) Bggiaits oy

(2) =gI FAOES

(3) CTEEEE cogfafn ames @ guRufy a9l &
(4) AEZH 3 B AT AGEG TS B A B B 9%

59. When phenyl magnesium bromide reacts with terf — butanel, the

product is :
)} Benzene : (2) t- butyl benzene
(3) - butyl phenyl ether (4) Phenol

o Rerrae Affras s ed-sgeritr & amy rfwimar e @
df IE woET E

(1) ¥=f= (2) F-sgfem Fh=
(3) A-giew e duv (4] wHHEE '

b
60. Among the following which one gives positive iodoform test P

(1) 1 - pentanol 2 - pentanone -

. {3) 3 - pentanone (4) pentanal N
ﬁmﬁﬁﬂaﬂﬁaﬁ?wwmﬁ%ﬁm%?
(1) 1- YeerHtd 2) 2- T=FE
(3) 3- YmTr @) I=rmam

61. Which reagent among the following ones would you yse for conversion
of butane ~ 2 - one to propanoic acid ? '

1) Tollen reagent {2) Fehling solution
(3] NaOH/ Nal/H* (4) NaOH/I /H*
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m@a-z—qmﬁﬁﬂﬁ!ﬁmﬂwﬁaﬁaaﬂ%%ﬁﬁﬁm
F 9 = um fteetes o FAT BT 7

(1) 29 ATHEHS (2) wefET fasae
(3} NaOH/ Nal/H* (4) NaOH/L /H"
Benzoyl chloride is prepared from benzoic acid by :
(1) €L, hv (2} SO,Ci,

{3) socC|, (4) Cl,,HO
WW,WMWE_WW%W:

(1) Cl,hvaEm {2) SO,ClL, &

(3) SOCI, T 4) Cl,,H,0 T

Benzamide on treatment with POCI, gives :

(1} Aniline {2) Benzylamine
(3) Benzonitrile (4) Chlorobenzene
yomereE & @ PoCl, @ sl S 9T AT ¥
(1} o (2) AR
(3) FNAFEIEA (4) F QT
Which one among the following bases is the strongest ?
(1) Aniline 2) p- nitroaniline
(3) m - nitroaniline J# Benzylamine
fresfafery ardt 3 & " o e @ ¥ 7
(1) PR (2) gl AR
B e MR (4) N
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63.

66.

67.

Which of the following compounds will not react with alcoholic KCN ?
{1} Ethyl chloride (2} Acetyl chioride
(3} Phenyl chloride {4) Benzaldehyde

ﬁﬁfﬁf@aﬁfﬁ?ﬁﬂﬁﬁﬁ—mqﬁﬁﬁmxcm%mmﬁﬂﬁ
A 7

(1) IUHA FASS (2) ufffee wRES

(3) MraEE Fass (4) s=fesEEs

Aryl halides are less reactive towards nucleophilic substitution
reactions as compared to atkyl halides due to :

(1) rescnance stabilisation

{2) inductive effect

(3) formation of less stable carbocation
(4) longer carbon - halogen bond

qﬁa%ﬁmqﬁma%awaﬁwﬁwm
FHtbar @ o &9 ranshier @1 B, oy 3 -

(1} e Rerfiepor

(2] UH oAEE

(3) B RyT FwETIGT T S

(4) BRA-BTIH FT A= T

Which of the following has the smallest heat of hydrogenation per
mole ? '

(1) 1 - butene

2] «cis = 2 - butene
(3] trans- 2 - butene
(4} 1, 3 - butadiene
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Wﬁaﬂﬂﬁm'

ﬁmﬁf@ﬁﬂﬁﬁﬁﬂ%mﬂnﬁﬁiﬂaﬁaﬁ

g B 7

(1y 1- : @ fre-2- A

(3) W—?-%%‘* @ 1,3- FIEET
solution 7

urise alkaline KMnO,

8. Which of the following will decolo
freraa @ T Bl Eo 1

frefates & § £ ToERNET KMnO,
(1) CH, () CH, (3) C;Hs (4) CCl,
69. Which of the {ollowing is smallest in size ?
et § 4 D FAEE H QB § 7
(Y B ; 2 © (3) - N° 4y Na’
70. The qumber and type of bonds between two carhﬂﬁ atoms in CaC,
are :
(1} one @ and one = bond
(2) one”C and two T bonds
(3) one o and one - hali = bond
|4 oneC hond
mc,ﬁﬁﬂﬂmﬂaﬂ%mwﬁaﬁﬂmﬁtw%:
. m q o AT T T FE {ﬂlﬂgﬁ(ﬁnﬂ'ﬂ
g ;3};:%' o AT uep-3TE a4 mﬁ_;am

a% -
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71, Electrolytic reduction of alumina tg aluminium by Hall-Heroy)t process
is carried ot :

(1) in the presence of Nag

(2) in the Presence of Nuorite

(3) in the Presence of cryolite which forms g melt with lower melting
tempcraturf:

in the presenc

f4] ¢ of cryolite which forms 5 mé]t with higher melting
tcmperature

73. There i noesS-9g bond jn ks

swa*&rﬁ‘#f%:

(1) 8,0, (2) 5,07 (8) 8,0 (4) S.0.»

27

28



o

14U/115/1043)

mmﬂ, is fused with KOH, a coloureq compound is formed, the
i and its colour are -

‘ -"{'l} K:Mno,_ | purple (2) KMno, , purple

76.

T7.

(3) Mn O, , black (4] Mn.O brown

230

mmnon'KOH%"mﬁH?ﬂﬁW%fﬁ%fﬂﬁﬁﬁmH%
e g, SO A T T R
(1) KMno,, ¥mh | (2) KMnQ, , $hrh

(3} Mn,0,, Wpw (4) Mno0,, ¥

Spin only magncﬂc moment ﬁf Hg [CD{’SCN],,] 18 : .
Hg [Cqscnu_.-_%@!a T a1 ¥ ool ey 2

WE e w9 (4) 23

Sadiwmm of an unknown anion when treated with Mgc,
givey S precipitate on bailing. The anion is -

B (OH), + NaOH. NaBO, + Ng [BIOH),j+H,0. How can this
reaction be made to pProceed in the forward direction ?

(1) by the addition of borax

(2) " by the addition of N‘E.J. HPO,

(3} by the addition of trans - 1, 2 - gjof
(4) by the addition of Cis - 1. 2 - gioy
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B (OH}, + NaOH === NaBQ, + Na [B[DH].HH,D
wmﬁmﬁaﬁmﬁ%ﬁa@qﬁ%?
(1) A B waee &5

(2) Na, HPO,® ®a &

(3) W—Lz—mmzﬁmﬁm

(4) f?l’??—-l.?—--gﬁaﬂ'ﬁ%?i?ﬂ'&lﬂm

78, The types of bonds present in CuS0,. 5H,0 are only :
(13 electrovalent and covalent '
{(2) electrovalent and coordinate covalent
(3) electrovalent, covalent and coordinate covalent
(4} .covalent and coordinate covalent

Cuso,. SH,0F I 3 gar Suftera @t ¥, B

79. Among the following ones which one has the paramagnetic moment ?

ﬁﬁﬁfﬁﬁﬂﬁ%ﬂ#ﬁ&rﬁﬁﬁ%ﬁﬁﬁ%?

\g{/{:r {H,0),)*" \Lg/ [Cu {H,0),7
{ i

Fe (H,0)* 4) [Zn (H,0), )"

80. The comipound insoluble in acetic acid 1s :

(13 Calcium nxi_dr:- (2) Calcium pralate
(3) Calcium hydroxide {4) Calcium carbonate
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mmﬁﬂgﬁﬂﬁﬁﬁﬁﬁiﬁ%:
(1) Bfeaaw AtaaEs (2) Afvamm AtFEae
(3) BREIH FEFIAES (4) Do FEHE

g81. The compound having tetrahedral geometry is :

N D g g s & @
(1) [NL(CN)IF (2) [Pd (CN)J*
@) (Pd CL} @) [N CLI

82. A solution of Na,S0, is electrolysed using inert electrodes. The
products at the cathode and anode are respectively :

N%smqﬁﬁaﬂaeﬁrmaﬁa@ﬁ%nﬁmﬁﬁr@[mﬂﬁam
o &1 A ofit Tlts aX I wae ¥
(1} H,, 0, 2) O,,H, (3) O, Na (4} 0,, 80,

83, The process used for extractive metallurgy of magnesium is :
(1} thermite reduction (2) self reduction

(3) agqueous solution electrolysis (4) molten salt electrolysis

Wﬁ%n@ﬁﬁﬁﬁwﬁmﬁﬁmaﬁmﬁ%:
(1) =AEe ITETA

2) | IT=EET

(3) g s & REgg seegd

(@) R wo T R T
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84,

85.

86.

8T,

The octet rule is not valid for

s Iy frod g ang bt 3 7
(1) NO 2 o, {3y co, (4) H,0

Which of the following has the most stable +72 oxidation state ?

ﬁwﬁmﬂﬂﬁﬁ?ﬂ%mﬂaﬁe@mwaﬂmﬁmmﬁ%?
(1) Sn (2) Fe (3) Pb (4) Ag

The molecule which has zero dipole moment is :

BT o7 & oy g Pgerer gefq & 7 -
(1) CH,CL, \[}/ BF, (3) NF, (4) Clo,

#Na is the more stable isotope of Na. The process by wh1ch "‘Na can

undergo decay is : ' el &
(1) P~ emission (2) premission

(3) K - electron capture (4) a- emission

'mwmmmmaauaa msahﬂ‘rf‘aﬁ%

Fe® ERT #*Na &1 ser @Yoy & 2
(1) p- Ik (2) p° Ieetw
3} K- T awor (4) a- Iegla
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32 g of oxygen contains 6.023 x 10% molecules at NTP. How many
sulphur atoms are contained in 32 g of sulphur under the samt
conditions ? :

32 g SFEST NTP U 6.023 x 10 (AT FHt WFHIIT HL 2
& mE ST A 32 g ST BRaT aehT Te] e B 7

(1) 3012 x 10¥ (2) 6.023 x 103

(3) 12.046 % 10 | 4) 2.0% 10%

The mean kinetic energy of He is @

(1} twice that of H, (2) same as thatof H,

(3) four times thatof H, . (4) half that of H,
He @ wfarsr S @ ot ¥

(1) H, % I 1 (2 H,® A

(3} H,® =T I (4) H, @1 ot

2 g of H, diffuses out from a container in 10 minutes. How auch
amount of O, would diffuse from the container in the same time unde.
under conditions ? '

wm U & 2g H, 10 FEe § Refa fer ¥ | st § g
w7a ¥ freer o, 9 A RaRa #w 7
(1) 05g’ 2) 2¢ (3) 4g (4) Bg

- .
Urea is added to 1 litre of water to an amount such that al 1K,
becomes 0.001. What is amount of urea added 7

%WWﬂMWW?WWW&TTHKfD.DD1
ﬁm&,lmgq\ﬂwaﬁﬂm- tf
) 60g 1 (2 68 “obg. (4 000e
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91.

93.

95.

1
K,/K, for the reaction CO + 3 0, = CO, is:

sﬂﬁﬁ?ﬂTCD+%Dﬂ—_rC{J,%ﬁ‘ﬁ K,/K. & :
(1) RT 2) 1|JRT (3] VRT {41

The pH of a solution containing 0.1 M CH,COOH and 0.1M HCl is -
TF R St 0.1 M CH,COOH 3k 0.1M HCI v@aT &, @ pH 2 :
(1) 1 (2) 2 (3} 3 : 4) 4

If (a - x)! vs t plot where (a - X)™' = reactant concentration at time 't, is
linear with positive slope which does not pass through the arigin, the

order of the reaction is : SN

(1) zero {2} one mg (4) three

AR @-x)'7 ¢ (G99) B 6T g1 G B, 98l 9T (a—x)'= 't gy
w%maﬁmi@awmw%aﬁ?ﬁﬁ%w

qA BT Tl o, e @ Ay ¥

(1) o () ©H (3) & () @
The rate of a reaction increases with twr;aturc. The reaction is :
{1) exothermic _\i?,]"’mdathennic

(3) of zero heat of reaction (4) any time
m%maﬁﬁmqﬁr{aﬁﬁﬁ, e 2 ;.

(1} SHomandt (2) TSI

(3) 3 T fyfEgr (4) et St g
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How much will the potential of a hydrogen electrode change when its
solution initially at pH =0 is neutralised to pH=77?

(1} increases by 0.059V (2) decreases by 0.059 V
(3) incre'aﬁes by 0.41V (4) decreascs by 0.41 V

E@WWWWWWWWMWH
TP pHnDﬁGﬂﬁTﬂ@'ﬂﬁTpH=?€lﬁT%?

(1) n.usgvaﬁqﬁ‘imm%
(2) o.nﬁgvaﬁﬁﬂzﬂ?ﬁn%
(3)- 0.41 v aF ghs HT TH B
(4) 041V d% b Tl &

The difference between heats of reaction at constant pressure and

constant volume for the redction .

2 CH, )+ 150, @) ~» 12C0; (8* 6 HOW at298KinkJis:

2CMH, (i} + 150, = 12 CO, (g + 6 H,0f afafrar & G, °%
ﬁ‘iﬁﬂﬂmﬁﬁﬁfﬂﬂﬁmﬁﬁ%ﬁﬁaz%ﬁﬂtﬂqmﬂ
AT kJ | &

(1) - 7.43 (2) +3.72 (3) - 3.72 (4) +7.43

For a reaction both aH and T4 § are positive. The reaction will accur

spontanecusly when !

um e & [ AH aﬁTTas&ﬁruﬁmﬁ%mﬁqﬁ'ﬁmW
grfl smaed, 99
(1) aq 5TAS (2 an <TAS 3} aj >TAS (4] an >>TAS
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99. The r:urnbgi:r of Bravais lattices in a cubic crystal js :
RF 9 tha & 8w it @t g B |
e 4 s (3) 7 (4) 14
100. Bragg's ]awi: is given by :

MH%WWMWW3:

(1) nl=25irrﬂ () mW=2dsin0 (3) 2d=rAsing (4) d=misine
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Section - III

avs - III

T Biology
(Marks : 150)

101. Which of the following is the proginator for the origin of first living
' cell on the carth ?

() AT (2) e @@ MEH (4) fafr=
102.In which of the following DNA is not fc:und ?

{1) Mitochondria - (2) Nucleus

(3) Peroxysome (4} Chloroplast

P § @ Read & o @ e OrEr ST @ 7

(1) TR (2) “JReIE

(3) OREEH (4) FUATE
103.Formation of RNA from DNA template is called :

(1) Transition (2) ‘Transcription

(3} Transfection (4) Translatic:.n

ﬁﬁqmﬂmﬁqaﬁﬁaﬁmﬁmﬁt

(1) giemEd (2) ;'quasm

@ e () R
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104. Which of the following is mot correctly matched for the organisms
and its cell wall degrading enzymes ?

(1} Bacteria ~ Lysozyme (2} Plant cells ~ Cellulase

(3) Algae - Methylase (4) Fungi - Chitinase

T od IEE Bty fPrefmmres IR B R Srafafag &
d BT " Al -t 8 ?

(1) SFary - agEorgy (2) 99w - e
(3} 9T - Frerger (4) F9F - Prfew

105.Who proposed for the first time the "three domain” system for
classifying living organisms 7

(1) R.H. Whittaker (2) Car! Woose
(3) Bentham and Hooker (4) Engler and Prantel
Gﬁa~ﬁi§ma‘ﬂiﬁ?ur“eﬁ=f§1ﬂ=r”ﬂﬂénwﬁmﬁﬁamm?
(1] 3T. 9. afest (2) @t gor :
(3) a9 ofT gy (4) ¥R afre deety
106. Heterocyst is the site of :
(1) CO, fixation (2) N, - fixation
(3) Photosynthesis (4} Starch Synthesis

ﬁﬂﬁﬁe%(m}ﬁm%;
(1) Co,Rerfrrrr 3 fam (2) N,Rerfrsror & fag
(3 IHNHETT F R (4 @ T $ Rig

bl
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107.What is the product of photophosphorylation ?
(1} PGA (2) ADP (3) ATP {4) NAD

AR T S oy & 7
() @ st g 20 THA @ A 4) T T &

_108.The red rust of tea plants is caused by :

(1] Puccinia (2) Cephaleuros
{3} Prion {4) Xanthomonas
| oqrm & @ 9 o dE T OHH B

(1) gadEaEr (2) ahGIT
(3) i | @4) S

109.In Funaria, meiotic division takes place m :
(1) protonémal cells (2) antheridium
{3) archegonium (4) capsule
wrARar # ST A wef Bar ¥ 7
(1) s iR § (2) wafiEzas |
(3) enatae . (4) Fe A

110, Which of the following is considered as the most primitive stele ?
(1) Siphonostele (2) Protostele
(3) Eustele (4) Dictyostele
ﬁqﬁﬁiﬂﬂlﬁmﬂaﬁmﬁmm%?
w e @ FweE @) I () ST
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1i1. Heterospory is found in : -
(1) Lycopodium (2) Adiantum

(3] Selaginelig (4] Dryopteris

Rty R ot weh & 2

(1) ey % (2} oRy=w#
(3)  Rfordar & (4) FrHICRT i

112. The F, genotypic ratio in a monohybrid cross of pea is :

W%Iﬂﬁ’rmgﬁrgmmffmﬁmzﬁrﬁﬁ?ﬂasﬁtﬁeﬁm'ﬂm%:

1y 2:1 (2) 3:1
B 15231 (4) 9:3:3:1

113. Jsomorphic alternation of generations is'found in :

() Funaria | (2) Riccia

(3} Rhizopus (4} Ectocarpus

qHEQ WSS # o@mRor fhed qrar orey 2 2

(1) FFar (2) Rypferar #

(3) TToT (4} sFchmdm |
14.A well-known I']B;[U.I’H.“}’ OCCUITIng auxin is :

(1) 2,4-D (2) 1AA -

(3) NAA (4} Maleic hydrazide’

WA ST megfen A ey oy I AT &

(1} 2,4-D (2) 1AA

(3) NAA (4) A% Trgrmes

40



14U/115/1041)

118. Which one of the following wavelengths of light is absorbed by the

phycocyanin pigment ?

(1) 420 nm (2) 540 nm (3
x 7
(1] 42094 T (2)
(3) 610 ¥R @)
116. Azolla is an important source of :
{1] Biopepticide (2)
(3] Biofertilizer (4)
(1) =HTHES Hl (2)
(3) HATAREEAT (4)
117.'Gladiblus’ belongs to the family :
{1) Liliaceae (2)
{3) Iridaceae (4)
Afealew fFF gw Q@ it 8 7
(1) e & (2)
(3] g« & ' (4)

610 nm (4} 660 nm
P & @ A1 OF TER-a BERREEtE avie ary SEie e

540 AAHET
660 AT

Insecticice
Herbicide

HAAaES W
wdaEE W=

Compositae

Malvaceae

Fqretife &
ArAad ¥

rane.

\ r
118, The first product of atmospheric nitrogen fixation in leguminous plant

15

(1) NO, . ' \G}/NH,

@ W, '(4) glutamate
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FeftaTe gt # argdty Tesie & R fieor # uEar Ian -
g7

(1) TEEEE (2) omifrar
(3) TERE ' 4) g
119. A single gene affecting more than one phenotype is called
(1) Pleiotropic {2) Auxotrophic
(3) Azotrophic - (4) Pleiotrophic
T S & UF @ At BFeET @ gwifad e weenar ¥
(1) iR - (2) AfFEIFeEs
(3) it (4) <hgargiiEe |
120.The process of photosynthesis in green piants is most active in-:
(1} ultra-violet light (2} green light
{3) red light (4] yellow Light
& At ¥ geeT-dedmer # e wad it el e aet X 7
(1) HASF-TET TH (2) ® g A
(3) = grer | : (4) diet s

121.The female gametoplyte in angiosperms is :

(1) Carpel - (2) Egg
3y Embryo sac (4) Owvule
srgaEteh dt & e AT e 2 ?
(1) H"39 2y o=t

(3) "R (4) s
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132. Peroxisomes are associated with :

{1) Photorespiration (2) Transpiration -
{3) Fermentation ' (4) Movement
JafeRTae @ T fRee g 7

(1] YHR-TE9 & (2) TS 8
3) fvaa | 4y TR

123. Potometer is used to measure the rate of :

(1] Piant growth (2) Respiration

{3} Photosynthesis (4} Transpiration

PR F IR A B, AT 7

(1) 9t 7 gfx (2 wEw

(3) HeRIYTE LA (4) RS
124. Which of the following is not an antibiotic 7

(1) Streptomycin (2) Chloromycetin

{3} Aflotoxin (4) Penicillin

Prefafee § @ A oRORS e it 2 7

(1) A (2) goEEARS

(3) woArRRAET | 4y offafm
128."Jumping gene' in maize was discovered by :

{1} T.H.Morgan (2) H.G. Khorana

{3) Barbare Mc Clintock (4) Beadisand Tatum
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[
qerp # ‘Siiege o FBeae @ o ? :
(1) #r.ug, apt 3 (2) ™. At @A A
(3) aRER ¥ Fi<lE A (4) fase o 2em A

126. Euglena is a member of kingdom :

1] Monera (2) Protista

(3) Aimalia ' (4) Plantae

g, I # e €

(1) A (2) sfewer

(3) Qnferaw (4) ==
127.Excretory organ fuu:}d in cockroach is :

(1) Malpighian tubule (2) Metanephridia

(3) Green gland (4} Solenocytes

forereree # Ioaet a7 o o ¥ - |

(1) Aedftas fesga (2) HeAwiiEar

3y W= =iy 4) aNEEEE
128. Zoological name of filaria worm is :

{1) Taenia (2} Ancylostoma

(3) Trypanosoma _(4)  Wuchereria

EIERRAT F HlET] B oy s am

(V) & @) T

(3) fRoTietar (4) FHREr
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129.Balanoglossus is an example of : , .
1] Urochordates (2) Hemichordates

(3) Molluscs (4) Ccphalochordéte:;
ST v garsver ®

(1) FU=wEw (2) FeErSew

(3) wHieTn ) (4) WdNardew

130.Which one of the following statements regarding cnidarians is
incorrect ?

{1] They are so called because they possess cnidecytes in their body.
(2) They exhibit ability to change their basic body forms by a process
of metamorphosis.

(3] The undergo metagenesis giving rise to polyp or medusoid body
forms alternately or remains in any one of body forms in their
life. '

[4) They exhibit tissue level of organization and are diploblastic.

Fafailad & @ 99 - PRRTT @ gad o e & 7

(1) 38 Pl safd =60 ¥ wifs o9 i F freane
T weft ¥

(2) %Wﬂ%ﬁﬁ%mﬁmﬂ?aﬁmﬁﬁqzﬁ
qRafifa & @ dvgar u=idfe w0 ¥

(3) F IR AT A IR @WEY A g F9 § 23 7
RerAferg Y orgwa B ¥ ar o ofas & w & sréiv @y
# a3 et ¥

4) F HaP W B G # wiRta wwa T ofe feeaflw B ¥
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131.In human beings, Taenia solium is found in :

(1} duodenum (2) large intestine -
{3) small intestine (4) rectum

A #, AfE Sy aEr S 8o

(1) mew & - (2) =&y ofta o

{3 B @ | - (@) wenyg #

132.Leech is a blood sucking animal nutritionally, therefore leech is ;

(1} carniverous (2) sanguivorous -
(3} herbivorous (4) omnivorous
dgor & R Wi @ gu 9 o=y ¥, yafn ot ¥
(1) wiemerd : (2) W(W}‘
(3) omERETL (4) wafsrd
133. Vertebrae 1n birds are :
(1) heterocoelous . (2) acoelous :
{3} opisthocoelous {(4) amphicoelous
fafzat 3 maear et & -
(1) P 2) ordm
(3) wvETEE (4) SwEpdE
134.Cuboid bone is associated with the structure of :
(1) Tarsus {2) Metatarsua
(3) Carpus (4) Metacarpus
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e Ity & g @ gt ¥
(1) 7w (o) (2) BIreTdE
(3) =dH (4) Hemwda

138.The sequence of blood flow from heart to gill in fish is :
{1} Bulbus arteriosus —ventricle »atrium —sinus venosus —Gills
(2) Sinusvenosus —atrium —ventricle —» bulbus arteriosus — Gills
(3] Atrium —ventricle -»sinus venosus — bulbus arteriosus —Gills

(4) Sinus venosus —right atrium --.:'rright ventricle —left artium
—right atrium — Gills

"elREt # wg @ st B R W & wET & T &

(1) T=/H AT~ Fag > I - a9 aaa- o

(2) GEAE AArET - s - Fea - ey ey - e

(3) IR FEa - aETe Yo aean e RNEE - TR

(4) TEAE AR -oEEl e oTdl FemoadT R
AR - TAFS

136.In mammalian kidney, podocytes are found in :
{1} Proximal convoluted tubule (2) Distal conveluted tubule

P
J¥ Glomerulus (4) Collectiing duct

RETTR T ¥, GreveEe TR oy ¥

(1) Prree goskw Afm 3 (2) wmmﬂ
(@) wirrowy ¥ (4) woe e, T
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137.Which one of the respiratory pigment is found in oxygen transport in

mollusks ?
(1) Haemoglobin + {2) Haemerythrin
{3) Chloeroctruorin (4) Haemocyanin
Arereht # sltedio R @ B Se-an saas Gl o S
C
(1) Erenfes (2} EmgRiEs
FAREE A (4) R
138.Enzymes needed to digest food in the alimentary canal are :
(1] Kinases (2) Hydrolases
(3) Lyases {4) [somerases
JMETTT # wWort 3 qra § amayas e
(1) IR (2) EHEINH
(3) wmEwaE (4) SIEEEREY
139.In biologic membranes, integral proteins and lipids interact mainly
by : i
(1} hydrpphobic interactions (2) hydregen bonding
(3) covalent bﬂnds (4} ionic bonds

Sfeen fareett 2, Wmﬁmmmmmﬁg@mﬁ
" B

(1) o s fBegrett

(2) TFFAA =9 &Q

{3) geEEd= Tt &

(4) oAt g4l g@Rr
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140.The process of transformation of spermatids into spermalozod is

called :

(1} spermatogenesis (2) spermatosis
spermiation ' (4) spermeocsis

qeYETY] 1 eI § T @ fafy @ #ed E

(1) SRRl (2) TRty

(3) wfas= (4) waffafag

14%, As a resuly of cleavage of the zygote, the 8-16 cell embryo is called :

(1} blastomere {2} moruia

(3} blastocyst . (4) trophoblast

I F e @E9 8-16 FIMYHRT o1 H Foa &

(1) swrEE] (2} TR

(3) =g (4} DrHETE

142.The expanded form of the disease AIDS is :
(1) Acquired Immune Deficency Syndrome
(2) Acquired Inner Deficiency Syndrome
(3} Acquired Inner Deficiency Bystem
{4) Acquired Immune Deficiency System
AlD ST o Rega &9 8 -
{1) e Ty RBERA=N Rigm
(2) wEEE g fEfefaad=h fRaim
(3) uwEEmE v PR faew
(4) uwarad R RfERA=h Rew

N
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143.Chromosomal theory of inheritance was given by :

{1) Gregor Mendel (2) Hugo De Vries'

{3) Sutton and Boveri (4) Correns and Von Tschermak
anEifaret @ e Rysra far mar o -

(1) T = = : (2) sgm A dErET

(3} wged AR NF I 4) &= T g= 9% FW

144.Central dogma in molecular biology suggests that the genetic

information flows from :

(1) RNA —-DNA —Protein (2) DNA —»RNA ->Protein
(3) Protein -»RNA —»DNA (4) Protein DNA —>RNA
anfeaes StafEsm 3 9o faer gana 3ar & @ omgaitde ga= =
yare Bk ¥ -

{1} RNA 3DNA -0EH (2) DNA ~RNA -3

(3) WMATRNA 5 DNA (4] & 5 DNA - RNA

148.hn RNA is converted into mRNA by a process caliled :
(1} Editing (2} Transformation
{3} Replication (4) Splicing
hn RNA o faffr a1 mRNA ® @gemn 2, #ed ¥ ¢
(1) T /T (2) ==

@) fapm (4) wERR
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146.End product of glycolysis in erythrocytes s :

{1) .’Pymvatc (2) Acetyl CoA

¥ Lactate (4) Glycogen
YT Hides § SRt # 3iftm Sae ¥
(1) wg=a= (2) =fafes Fro=mE,g
(3} AT (4) TR

147.According to Landsteiner's law, the person with blood group A will
have one of the following agglutinogen : agglutinin combinations :

(1) Aa (2) Ap
(3) Awithno g or g (4} Awith o g

m%mﬂ,ammmﬁmﬁﬁﬁmﬁﬁ
TF WA e T - wafefe # o

(1} Aa (2) Ag

(3) A WY gar g (4) AS E™a g

148. After analysis of a DNA sample, the mole percent of base ‘A’ was
found to be 20. Following the Chargaffl's rule, the mole percent of
base cytosine will be :

DNA 9T & STeIgH & =15 A’ ST 1 S Qe 20 9Ia1 74T o |
fr=faftre =mhs fam & orER aRdfes i @ W i 8

(1) 10 (2) 20 \1,31/30 {4) 40
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149. Which of the radioisotopes was used to label T2 Phage DNA in Hershey-
Chase experiment to prove DNA as genetic materiad ?

umn@m@mmmm%mﬁ-mmﬁmm
DNA 0 <A &ed & R A-ar Wrdengady mim Beay =

oqr 7

(1} *H (2) #C (3) *8 M*P

150.1n quite condition, expiration is caused by :
(1) Contraction of expiratory muscles
\{# Relaxation of inspiratory muscles
(3) Contraction of inspiratory muscles
{4) Relaxation of expiratory muscles

AT AR A, SEEYE B PO S &
(1) Sogataa At @1 fags |

(2) armeafyo AT @ R

(3) Awy-varaa qfdEt @ Rage

(4) Iogafda AR w1 A
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